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Write any four features of macroedcnonnlcs'

What is effective iiemand?

What is nro{1-f-ush inflation{,

Write any two irnpiications of Sals Law cf Market' 2

the econorric values that arc used to coulputing rate

of inflation.

are the of psyt:hr*iogical law of '

c*nsurnPti*n

{)t F*i:rt out Lhe ecire talues of ec*c}c}ff}io cleveiop'meilt? /

\i {i. l&lhet ar* th'* **mpernents of fliimtisial inr:iusion? J
\-7

Cantlidates are required to gtve thetr answers

iin *'rrdr as far as Practicable'
i;:; isorw ti tt'e mirgin indicatefull marks"

.1

\&&at are the ecst drivers of globaiization? 4

sssurnptions
h:nction? |



QrBUP I'Bl

Short Answer fruestions {, 'ruy Five) [5x10:50]

Q!,,Describe the static analysis of macroeconomigs' S

$-T.7Deive furvestment and tax mtrltipliers. z
\-/

. t:. Explain the f,actors that causes povertv in Nepal'4
\_,/

14. A*t*ut the features of monetary poticy (208-2a) of
Nepa{.
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b. Why the real GDF is better rneasurelnent of wetrf,are

thair norninal GDP'I

Consider the fcllor,*'ing
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b. Graph Yd and'C and explain three propositions of
psyehological law of consumptions function.

Group "Cl

Amalytica! Answer Qwestions (Any Two) : llxl5:30]

the conbaction phases of trade cycles. What types
f,rscal measlngs you apply to stabilize the Lt

LE. Explain the process uf measuring GDF by product method
with exarnples. Whatffpes of conceptual difficulties are

eneountered in the measurement of GDP by product
metirod? t10+5.1

19. Let, the structural equations for the money market and "

product
fbllows:

market ina hypothetical economy are given as

tr:400 - 40CI0 i, Msp:200 - 2000 i,
Mt: 0.5 Y C:400 + 0.75(Y-T)
T * 200 + 0.2Y N{ = 800

G: 500,
It>

h- tr)stermine eqililibriurn rate of interest and output.

1ir" , What u,i[[ tre t]ae sirnulta$eous effect on thev equilibrium late of,interest and output when
govemrnent increases its planned expenditure by Rs.
100 billion and c*ntral bank increases money supply
Lry Rs. 200 bitlicn?

ili. Are these fissai and msnetary measures effective to
\----- control infXation? Give your comrnents. [6+6+3]

/
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1:. firaph Y'd and'C and explaln three propositions of

psyctrological law of constlmptions function'

Group "C"

Amatytdea!Answer Questions (Any Two) " [2x15:30]

6. iuor*o the contraction phases of trade cycles' What types

- a:rxral meaqrgs yorrld you apply to stabilize the \{

- -'/- - --' [8+7]eeonornY'l

18. Explain the prooess of measuring GDP bI ft:d":I. *ethod-" 
;th examples. Whattypes of conceptual-difficulties are

encountered in the measurement of GDP by product

method? t10+51

19. Let, the struetural equations for the money market and '
/ 

procluct rnarket ina hypothetical economy are grven as

follorvs:

I=400-4000i,
N{t:0.5 Y
T ..20CI + 0.2Y

Msp = 200 - 2000 i,

c:400 + 0.75(Y-T)
' lv{: 800

G = 500,
It>

*- Determine equilibritun rate of interest and output'

. ii. What ra'ill be the sirnultaneous effect on the
V equiiibri'*m rate of rnterest and output when

for**r*.r, increases its planned expenditr:re by \t'
TOO Uittion and eentral barik increases money supply

by H"s. 200 bilticn?

iii. Are thcse fiscai anci monetary measures effective to

\---^ eontrol irlflatiom? Givc youl comrnents' [6+6+3]

n


